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REVISION TEST 1

Q1.Choose the correct answer and fill in the blanks.

a.The place value of 9 in 398 is_________.( 9/90)

4×1=4

b.3 hundreds +5 tens +2 ones =______.(352/253)

c.225 comes after _______.(223/224)

d.The answer of addition is called ______.(difference/sum)



a.90 c.224a.90

b.352

c.224

d.sum



Q2.Solve.

3    5
2    8+

2   5  3
2  8+

2×2=4

2    8+ 2  8+



3  5
1

2 5 3
1

3  5
2  8

36

2 5 3
2 8

182



Q3.Do as directed.

a.Write in descending order.
415, 550, 260, 330

b.Put the correct   >,< or =

825______ 624

3×1=3

c.Write the number shown on the abacus.

H    T     O



a.550,415,330,260

b.825 > 624
c. 201



4.A shop keeper has 46 footballs and 25 cricket 
balls.How many balls does he have in all?

Number of footballs=           _____

Number of cricket balls=    _____
+

4

Total  balls=                        _____

So,he has    _____ balls in all.



4  6
1
4  6
2  5+

17
So,he has 71 balls in all.
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